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201. X-rays are electromagnetic radiations whose wavelengths are of the orders of:

TFH-Y Regd grahe Ao § Gehr ater e e s & @ &

A. 1 meter

B. 10! meter
C. 10° meter
D. 107 meter

X-ray, electromagnetic radiation of extremely short wavelength and high frequency, with wavelengths ranging
from about 10 to 102 metre and corresponding frequencies from about 10 to 10%° hertz (Hz).

202. How many atoms are in a molecule of (NH4),S0,?
(NH4),50, % 310 & ol 9RAT] gl 82
(a) 14

(b) 15
(c)13

(d) 12

(NH ,),S0, (0]
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Ammonium sulphate (NH4),SO,, is an inorganic salt with a number of commercial uses. The most common use
is as a soil fertilizer. It contains 21% nitrogen and 24% sulphur.

IANTATH ToWe (NH4),S0,, 5 SATTHT A 3TANIN ATl Ueh JTehTelfoieh A & | T 31T 3TIT fAeer
39T o T H | STH 21% AScrol 3R 24% T glaT g
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203. Diamonds can be synthesized by
ER T TN FoRaT ST el &

A. reacting carbon and sulphuric acid /Q%ﬁ?amﬁaa?réﬁﬁwwqﬁa?uﬁg

B. electrolysis of pure carbon and lead /%@mewsaa@ﬁm

C. subjecting pure carbon to very high pressure and temperature /Q@Wﬁﬁgﬁmmﬁ
ATTATT o 37efeT AT

D. double decomposition of carbon dioxide and nitric acid Yeark) grgaﬁarggaﬂtarsiz%t@gw
ARRURI IO

Sol-
Diamonds can be synthesised by subjecting pure carbon to very high pressure and temperature. These
synthetic diamonds are small but are otherwise indistinguishable from natural diamonds.

aﬁymﬁa@mmﬁ?amﬂm?mmﬁaﬁmmmmmﬁlﬁﬁa%éﬁ
DI Bl & oifehat WTehfcieh R A 3relaT AT g1 8 |
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Q204. At boiling point of liquids, its
AT IETY & FaYeATsh T ?

A. Temperature increases/Hrqﬂl?ra'éﬂT%
B. Atmospheric pressure increases /a@mmm%
C. Temperature remains constant/wmiga %’
D. Vapour pressure decreases / ar~dT gaTg TedT &
Sol-
Liquid Boiling Point
Water +100 °C
Butane -0.5°C
Propane -42 °C
Pentane +35 °C
Methane -161 °C

Q205. Bubbles of air rise up through liquids due to:

f3he SROT @ a1 & Folgol A JaTd A3 82

Surface tension and adherence / t[%*a?rraaﬁ'\rsma?r

viscosity and buoyancy./ QREITAT 3R 3ccerd

air current over the liquid and buoyancy/awmwaﬂgmﬁ?w
Up thrust and surface tension. /ﬁiﬂﬁ?q}?aﬂ'ﬁ

o 0w >

Sol-

Viscosity is the state of being thick, sticky, and semi-fluid in consistency, due to internal friction.
Buoyancy is an upward force exerted by a fluid that opposes the weight of an immersed object.
In a column of fluid, pressure increases with depth as a result of the weight of the overlying fluid.

QTSI 3R eh TYUT & HROT a1, A 3i% 3r8-aRel gerey 6 Farfa & gl iy 3raear g
ScCelTaehcll Teh TRel Tere SaRT SR &1 R ST 1T el § it el 3601 §8 3] o 81X T faier e g
T 9T & Teh TGH H, FIR & el TeT2 o Tole] o TRUTHETERT TGS o AT &1 gedT o

Q206. The boiling point of liquids vary as
foRE ROT I ot STt & FaUaich fReeTar gl &

A. Pressure varies Il H f&eeTdr
B. Temperature varies ATIHATST H [Hetar
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C. Volume varies 3IdeT # ReaTar

D. Density varies €sicd i [Heetdr

Sol-
The boiling point of a liquid is directly proportional to the applied pressure. Lower the pressure of a gas above
a liquid, the lower is the temperature at which the liquid will boil.

Ueh e T FaLeAT VI A Ga1d & FATAT 81T § | Ueh el & SO I T Ga1d 7 BT §, T AT
HH gl § o TR Rl 3Tl g |

Q207. "Atoms can neither be created nor destroyed". This principle was given by __?

"GRATUT3T bl oF oY ST ST Hehell & 3R 7 &1 w75 fohdT ST TehelT ¥ | U6 Feend __ g@n feam rar are
A. Avogadro /TdIaTar

Dalton /3Tecdd

B.
C. Rutherford /TGIHIS
D. Niels Bohr /afeq Sigr

Sol-
The given principle is one of the postulates of the Dalton’s atomic theory given in 1803 by John Dalton. The
postulates of Dalton’s atomic theory are as follows:
1. Elements consist of indivisible small particles (atoms).
2. All atoms of the same element are identical; different elements have different types of atom.
3. Atoms can neither be created nor destroyed.
4. ‘Compound elements’ (i.e. Compounds) are formed when atoms of different elements join in
simple ratios to form ‘compound atoms’ (i.e. Molecules).

feam aram fAeerid 1803 # Sl SToce GaRT T a1V sTees & IATY] FAgHTd & JIfAURu3t & @ vw g
STece & ULATY] FAGHI T TFELRUMT 58 TR 8-
1. dcdl # JTIHIST BIE HUT (RAT]) 81 & |
2. T 81 dcd & T TRATI] FAET g1 ; Faffest ceat 7 fafdest 9o & ey gr €1
3. GYATU] 1 &7 Al ST ST Hehell § 3R o 8 ¢ fohalm ST HeheTT &
4. "TiAeh e’ (FT=l ZHNR) I ol § STeT Tt cleal & TRATI] Tl U H o ‘FHaNeh
TRATOT (31T 379) ST &

Q208. Small insects can walk on water because

BIe HIS Yl 9T Tl el & AT

A. Internal friction of water is high /AT T TR TYoT 31 grar g
B. the density of water is less than the density of the insect /9TAT T Telcd &I & gdca @'EFF[EIH %’
C. their weight is not enough to penetrate into the surface /mamwﬁwa;ﬁtrwﬁmaﬁ

J
D. None of the above /378 & FIg & A&

Sol-

Insects can walk on water because of a phenomenon called surface tension.

This is essentially a property of water (or any liquid) which allows it to resist an external force.

Water molecules form bonds between other molecules — and the molecules which have air on one side will
form a much stronger bond than the molecules without.

Since insects are small and do not have enough force to break though, they can technically walk on water.
One of the best examples of this phenomenon is seen in insects called water striders.

TAE TATT ATHb TTT o HROT HIS Ilell I Tl Thol & |
g 3TN & 8 T (AT IS TLA) T T I[0T § AT S8 FTEL Tl T TARNET Fled Sl 3T AT ST B |
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T 3 37T 375 LT o S T FaATeT & - 3R Tt 370734 7 vk o gar aie &, 3 F9aT 313t o Jorewr
g HSTod ST TAS

TR 1S BIC B § 3R 31 At & FoIT TATod e 161 81T &, I Aeheilehl €9 F AT I el Thel & |

S GTAT I T TOT 3GIgI0T dTeY TS ATHS hisl H @ AT g |

Q209. A sudden fall in barometer reading indicates that the weather will be

e {9 F 3T FR1ae g Ihaedr g P Alaaaem

A. turbulent /géﬁ?

B. rainy /S{dTd

C. cool /3?>T

D. None of these /3T ¥ IS AdT

Sol-

e Barometer is a scientific instrument used to measure atmospheric pressure.

e The atmosphere is the layers of air wrapped around the Earth.

e That air has a weight and presses against everything it touches as gravity pulls it to Earth.

e Barometers measure this pressure.

Atmospheric pressure is an indicator of weather.

e Meteorologists use barometers to predict short-term changes in the weather.

e A'rising" barometer indicates increasing air pressure; a "falling" barometer indicates decreasing air
pressure.

A rapid fall in barometer reading indicates stormy weather, it means that a low-pressure system is
arriving.

R Toh A=A SUHOT § TTHehT 3TN ATGHSANY celld hl AT o [eTT FohaT S 3|

o TASH YT & TRT R FA gar T Rl B |

3 BT &1 doTe B1clT & 3R T Tore <ot 1 el §, 3Heh Wl GaTa STelcl § ardifeh ecaTehyur S8
gl T R G g |

NfeTsgeaa H AT B

o AYHSHIY gaTd ANEH HI AR ¢ |

AT et #GH 7 eTehiiord IRads Sl ATTSIAToT e oh folw SRIHTET T ITT A |
Teh "SGcll" SRIFICT e arg el Y ST il §; Teh "I SRIHIC gaT & celtd 7 &l T Hevel &l
gl

o I (TS A A & FRIGE JHIA ANGH 1 Heohd Scll &, SHPT AT § [oh ha GaTd dlell RAESH 31T

wIE

+« Weather forecast:

1. Sudden fall in barometric height - Coming of a
cyclone or storm.

2. Gradual fall in barometric height — Possibility (
rain as moisture gradual increases.

3. Rise in barometric - Expecting extremely dry
weather

4. Sudden rise — Extremely dry weather.

5. No abrubt change — no change in weather.
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Q210. Mica is used in an electric iron because it is a

3737 T 39T fasTell & g & fohaT SITaT § Fifs a8

Good conductor of heat but a bad conductor of electricity /mawwwﬁagaww
Bad conductor of heat but a good conductor of electricity WWWW%@HHW
Good conductor of heat as well as electricity JITHT & Frer-aTY fSSTelT T 37T Hagsh

Bad conductor of heat as well as electricity ﬁnﬂ%mar-muﬁaﬁrwaﬁwﬁaﬁ

o 0N ® >z

Sol-
Mica is used in electrical appliances such as electric iron because mica is a good conductor of heat but a bad
conductor of electricity.

37 T 3T STl & IYFON AT faSTell & og & fohar SIrar § i 3r97es 315t &1 3coT Gargs &
ifehet farsTell &t Farele g1

Q211. Piezometer is used to measure

FrafeieT T 39T A9 & fov fFar srar g

atmospheric pressure /WE\EW

very low pressure /ag?rma‘m'

very high pressure /ag?rma—ma

difference in pressure between two points /ar ﬁgﬁ?éﬁﬂaﬁﬁﬁm

o 0w >

Sol-

A piezometer is either a device used to measure liquid pressure in a system by measuring the height to which a
column of the liquid rises against gravity, or a device which measures the pressure (more precisely, the
piezometric head) of groundwater at a specific point.

Teh NSAIHET T Y Teh 3UHIOT & THHHT 3TAIT ford JoTTely & ol &a1d &l AT & foIT frar rar g,
TS 31g 1 AT & Tl ool 3T Teh T3 IocdTehyUT o &I ST &, AT Teh STRIUT it Ueh TATRISE
1Sig TR ${TeT & galTa (31TRreh AT, TS AATE §3) I AT | .

Q212. Which of the following electromagnetic waves has the longest wavelength?
o1 71 & foha TagT T Yeehrg ka1 b1 TS Feard 3ifereh gl &
A. Gamma rays/ 3ITAT fROT
B. Light rays/ gc<hl fahior
C. Ultra-violet/ RT-s3ToiY
D. Radio waves/ IfS3Y a3ar
Sol-
e Radio waves, infrared rays, visible light, ultraviolet rays, X-rays, and gamma rays are all types of
electromagnetic radiation.
Radio waves have the longest wavelength, and gamma rays have the shortest wavelength.
Red has the longest wavelength and violet has the shortest wavelength.

When all the waves are seen together, they make white light. Ultraviolet (UV) light—is radiation with a
wavelength shorter than that of visible light, but longer than X-rays, in the range 10 nm to 400.

o Y3 TR, 3raTer FROT, TRT TehTel, TRIATAT 30T, Tard-Y 3R AT fanaol |eft wep & faega
TFaH AT Y|

3T AT ALETEET T el gl & R AT faoT hr dETGES e FA g o |

o OIToT LT T AT T4 FaId Il Blcil o 3 ST a7 hT o{am e Fadl DI gl &

ST | e Uen Ay s e €, A 3 @t TehTer STl 8 | qRrlaTed () TehTer - TR TehTer T Jefell
H A qT &8 & Try RAfROT 8, et TFgY & 3178, 10 TeIwa ¥ 400 Hr HATH |
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Q213. What is the Jeweler’s rouge?

S wT FATE?
A. Ferric oxide / PR 3iTFES
B. Ferrous oxide / ¥R HTFATSS
C. Ferrous carbonate / HY Frefee
D. Ferric carbonate / %hReh Frefae
Sol-

Jeweller's rouge is a jewellery polishing compound, used especially for achieving a high shine with precious
metals such as silver and gold. Made from finely ground iron oxide, or more commonly known as “rust”,
jeweller's rouge comes in a dark red colour, following its namesake rouge.

SR o Teh Sy IfIfRIaT hur3s , foraent 30t faQiy & & =idr 31K ey SHEr shreelt erait & @y
Teh 3T T 1ol el & FIT foharm ST & | e O g e & 3iferanss, a1 A Fretead: "sior & &9
H SATAT ST &, ST T FoT 379 ATH dTel Fof S J1G gL oATeT 9T 7 AT & |

Q214. ‘Misch metal’ is widely used in the manufacture of which of the following?
fRrAfaf@d & @ foraeh ATOT 7 faer urqy &1 sarde &9 & 39T f3har Srar 82
Material of car brake / SR sab T GTHAY

Cigarette lighters/ fIRT d8eX

Smoke detectors/ EI‘:HW@EF

Emergency lights/ 3TATdhTells] SllSC

o 0w >

Sol-

Misch metal is an alloy of rare-earth elements. Misch metal alloyed with iron is the flint (spark-producing
agent) in cigarette lighters. It is also used as a deoxidizer in various alloys and to remove oxygen in vacuum
tubes.

T3 1] goler-2dy cieall T T4 T & | e & Ty s arq] T e fAvRe STgex # ehefeh ToUT (F9Teh-
3cUIe Usic) § | $8ehT 3 fafdiest s enq3it 7 S3fferdisser & ®9 7 3R 3gH &l & Jifereloret &1
gl & forw off foram Srar g1

Q215. In the modern periodic table, zigzag lines separate

ey e RO #, el W@, ...... Y e F 8
A. metals from halogen /gﬂ’ﬁlﬂ'ﬂ'ﬂ@;ﬁ
B. Metals from metalloid/ STeTer3it & emey3it
C. metals from non-metals /3Tﬂﬁ3ﬁ\q'ﬂ'vl%:|"3ﬁ

D

. Nonmetal to metallic/ STeIT31t & 3remaait
Sol -
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e Inthe Modern Periodic Table, a zig-zag line separates metals from non-metals.

e Metals are founded on the left side of the staircase whereas non-metals are founded on the right side of
the staircase.

e Metalloids are directly touching the staircase and can be also called as Semi metals.

e To the left of the non-metals is a zig-zag stair that use to separate the metals from non-metals.

o 3Ty A Ao 3, T TS YT T A ST & e A

o AT ITS X TV TR B1eh § STafeh FUTT HEr 3 &T$ AR T gIelr 8

o HeHTs W WE HI P @ & IR 376 3 a1 o gt ST TR |

o O3t 35 AT 3T T TS WY & Y et Y T3t 7o Y 35 T ST e ¥

Q216. The types of waves produced in a sonometer wire are
WA aR #F YT ot arell a fre yr A gt &2

A. longitudinal stationary/ Hﬂh‘é’ﬁﬂ'{'

B. transverse stationary/mw

C. longitudinal progressive/ Hﬂ%&ﬁ'mﬁﬂ'

D. None of these/3eTH & 1S AR
Sol-

Waves produced in sonometer are stationary transverse waves , i e the waves on a string forming rests and
troughs

TIAHIET 7 Scool 3T [EUR 3TIEY 3T BIell 8, 31UTel Ueh AR O 3T it feehrell § 3R a1 SaArelr §

Q217. Brass gets discoloured in the air because of the presence of which of the following gases in air?
gar A Rafaf@a & ¥ B 3w A 3ufeafy & sRor daa gar A P gz smare?
A. Oxygen /3T
B. Hydrogen Sulphide /EE@EHHF!FI%?
C. Carbon dioxide /FTee STEHTFHISS
D. Nitrogen /sTTgeIStel
Sol-
The brass alloy is made by the combination of Zinc and Copper.
Brass does not react with oxygen, nitrogen and carbon dioxide.
Because of the presence of Hydrogen sulphide, Brass is discolored in sunlight. This is because the presence of a
mixture of hydrogen and sulphide and brass, which has a very light color and mixture with hydrogen sulphide

leads to non-temperature (hot and cold temperature type) so it becomes discolored.
Hence, brass gets discolored in air because of the presence of hydrogen sulphide.

dicTer TR &1 STEcT 3R AT & HIolel & §18 STl 21

draot 3fTaTaTeT, ATSeretsT 3iR ST SIS3TFaTSs & AT YiashaT A8l aar gl

g3aIotel Hothrss i 3ufefal & 0T dcfer FF & Fehrer 3 hrer U STTem & | TAT SHTOT § F=ifeh graglietet
3R Towrss 3R diae & fAsor $r 3uieafa, W@W@Tm%aﬁ?wsgmd HohTss & [T d
IR-ATIHATS (1 3R 33 ATIHTT YohR) BIAT &, SHIAT T Il I35 AT B |

AT, §T83IeTe Howhrss ST 3UTeUfa & HROT Uil a1 3 PhieT I8 ST § |

Q218. In which of the following activities silicon carbide is used?
rafaf@a & & g TR F RfewT wetEs &1 sy Faramard?
Making cement and glass /e 3R Frw IAT-

Disinfecting water of ponds mwmqﬁaﬁavyﬁam
cutting very hard substances /ag?raré’rrqarz‘rm

Making casts for statues /ﬂﬁﬁ%ﬁvmm

o 0w >
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Q219. The group of metals Fe, Co, Ni may best called as
T3 & WHE Fe, Co, Ni Y AT FgT oI HFHaT &

A. transition metals /W'UTEII@;EHT

B. main group metals /HET WHg HT]
C. alkali metals /HT&JEHT:[
D

rare metals /g?ﬁ'ﬂil’ﬂ@;

Q220. Which of the following refining methods works on the principle of adsorbtion?

frafaf@d # & Fla & eivus fafer srfreivor & RAgyia W & Hdr g?
Zone refining /SiieT RIS T

Vapour Phase refining /aTsq TR UT MeTeT
Chromatographic methods /mm
Liquation /GdTahoT

o 0w >

Sol-

Chromatographic methods are based on the principle that different components of a mixture are differently
adsorbed on an adsorbent. There are several chromatographic techniques used for refining such as paper
chromatography, column chromatography, gas chromatography, etc

siAcEnhe faftar sa faguia w 3menda € fo veh fAsor & Affiest aeen &I Teh TIEsIr IR 37ereT-3767T
T I 3TN forar Far §1 e & foT 8 AN hes darsiie! T 39AET T ST & S IR
FIFCIATET, FHictH AT, I e, 3nfe)



